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Formulas for Fourier Coefficients

f(x) =
1

2
a0 +

∞∑
n=1

(an cosnx+ bn sinnx)

an =
1

π

∫ π

−π

f(x) cosnx dx

bn =
1

π

∫ π

−π

f(x) sinnx dx



Find the Fourier series for f(x) = x2
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Calculus II: Test convergence of the following sum:
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Calculus II: Test convergence of the following sum:
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Substitute x = π. Remember that cosnπ = (−1)n
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Find the Fourier series for f(x) = x+ |x|

f(x) = 0 for x < 0 and f(x) = 2x for x ≥ 0
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The Fourier series for x+ |x| is:
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